Name: Date: #72 Comp the Sqr for Vertex

Tumn each quadratic below into vertex form by completing the square.

) y=x"+ 161+ 71 2) v=x"=2x-§

NE (H%\)’4 N F(x ) (%-1)°- 0

3) v=—x" = 14x-59 4) v=2" + 361+ 170

) -

0z —(x Y RO A0S
5) y=x=12x+46 6) v=x" +4u

Q) = (kLY O F ¥ ()24

7) y=a=6x+5 8) v=(x+5)x+4)

= 5 9. ;‘ ( ,:*_ [

W ey pode (Y -
9) f(x) =2x? —4x +8 10) y=x*-=10x+5

(0= AN ”"\52'4’ 0 NOQECS 5) 9\#‘0‘1 C

11)
3:_-3x2_12x—13 12) y=x2+7x+4

1 -= N2 AL
to) = =230k ) }“’\ F0O= (X3 'y




HW /I~

| 8 K
OO, 3

|

ir % ) F \’ (> 3%ec LY
(x 4%+ 7
@ (%)= X -—Qx + o= |
_LJ'CJ —!3 =3 75[) |
¢ =(A) *er
(x-D? -6 o
(3) 0= - x*— 14x,~ 9
| \L HCAVLLH{.LE rovt
| wolf q — Hmesa +
- (e xd9) -59 Y tq s et ol
1 ’__b th -—1“\‘_1 From fflnff/
s (X‘T*I)Q‘__.\CJ/ ¢ =1%ot
@ '“C(J(\: L&Xl-f%wy,-%ﬂo
J b '
Y Jo int front
> ' \ 1
ol (x +I%><tﬁ|:), 70 -3.01) ooy e
\/ e
A (x +9)* big w5
;" V10 — \LQQU C *qQ”c 3\




. > 04;'{
(5§60 x>-1ax 3k v ~Bo bt )
L ;f;# &4 L 1\2 ] o (2ol 3
(¥ -()"  HD
@ f) = x * ’F_,LL‘ - Y %& {iLn s
.\} - [/ -2ty
(x+38) -y
@ %:X}’LQY*_Q_}*'S’_Q_ o= | ;lg_:_,g
d S - e
(x-3)= -4 C( o
@ Lﬁ*"@ﬂ '5)6(1"4} Onanagto Staundard st !
WX A4 Tt
Xg'*uﬁé *{5){"‘_30 CU-.:- ' _Gl___
gs'{"qx .\.a'b P'f_ - JLEH)
X 1’6])(1-3'\'.__& 0= 3L C=(%) of
%0 _<l
14

(e -



J b «L_+vo
b /C'H’ _w.‘r
. +5 e Ty )1ed
o B 3
A (L)i “ e+ L) +g—20() g2
J 7 4’/% a A~ | oy \*°
~\+ . . ...
CQ(Y D 4—(_@ 6= | ec(<)* 20\ |
@@&)‘IX}"D@“B . 2
. . o~ (e =
=X~ I0x+ B +5-25 pusin . Gk
l = C=XorfR)”
J >
(%=5)™ A0
@QLX): e ) v =13
"'”364 +le+‘":(_)—-|3 ‘*‘M W P"‘ bbj 3
b2 P;}TQ O =lor| E
§: ~3(x+ 3T —| o SR TR
C?doc 204N
()5 C=x 1+—}><+4 i
= 1“\'7\,( +1+4-§ i:‘l T
RV FOLa W






